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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forP3-13 0
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P3-13

BYIE) | BRI (B)) | = (EA/#R) | XS SRR

07:15 190 100.0 RS {Ri&e07:15 Fzi (REAEHE)
08:15 190 100.0 |Z=| 1Ri%e08:15 F3h (KRF{EREE)
09:15 190 100.0 FA| {RRi&@09:15 Fz§ (KPEEE)
10:15 190 100.0 FA| 1BRi&@10:15 F3) (KAERESE)
11:15 190 100.0 BE| {Ri%et11:15 Fzh (GRBAERSE)
12:15 190 100.0 Bl Rige12:15 Fz (REEESE)
13:15 190 100.0 RS {Ri&e13:15 Fzf (REERSE)
14:30 190 100.0 BE| 1Ri%e14:30 Fzh GGREAERSE)
Zit[1520.0 (8%) 800. 0 3253 %EC: 2080.0, PH: 5.6

TERRHER 2 STEEART (124.0 :

PRIASLPRIEBE84. 0 ml.
MR i Bl RECE IR fR 5k .
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FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=26 (2025-04-26)
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m=515, FV0=0 m=605, FV0=0 m=665, FV0=0
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500 600 700 800 900 515 520 525 605 610 615 665 670 675
m=725,m FV0=0 m=785,m FV0=0 m=845,m FV0=0 m
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P3-13

AyiE) | EBIATK (FD) | EBE (BEH/HK) | XHR R

07:20 240 90.0 BE| {Ri&e07:20 Fz (REAEHE)
08:20 240 90.0 RS {Ri%@08:20 Fzi (KREEEE)
09:20 240 90.0 B {Bi1ge09:20 Fz (KRPHERE)
10:20 240 90.0 S| 1Ri%@10:20 Fzi1 (REAEESE)
11:20 240 90.0 S| Ri%e11:20 Fz1 (REAERESR)
12:20 240 90.0 RS fRige12:20 Fzf (REERE)
13:50 240 90.0 5| {BRig013:50 F51 (RPHERKSE)
15:25 240 90.0 RS {Ri&ke15:25 Fzf (REAERS)
21t 1920.0 (8%) 720.0 3 WHKEC: 2080.0, PH: 5.6
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106.0), FlEEHT—@ % XA HS
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large discrepency for begining water status (172:282.0), set to 194.0 ml.
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P3-13_0, Day=25 (2025-04-25)
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m=515, FV0=0 m=605, FV0=0 m=665, FVO0=0
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